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QUESTION 1

An administrator is configuring external storage that will be accessed by multiple servers via the existing Ethernet at a
minimum cost. Which of the following technologies BEST meets these objectives?

A. NFS

B. Fibre Channel
C. HBA fabric

D. DAS

Correct Answer: A

QUESTION 2

A server technician is applying a security patch to an active-passive failover SQL cluster. However, the cluster must
continue to service clients during the process with limited outages. Given this scenario, which of the following should the
technician do to adhere to these maintenance requirements?

A. Failover back to the original active node once the patching is complete

B. Keep services failed over to passive node once patching is complete

C. Move services to the active node and repeat for the passive node

D. Patch the passive node, failover, and patch the other node

Correct Answer: D

QUESTION 3

A network administrator is creating a subnet that needs a maximum of two networks in the DMZ. Which of the following
subnet masks should the administrator use?

A. 255.255.0.0

B. 255.255.255.0
C. 255.255.255.128
D. 255.255.255.254

Correct Answer: C

QUESTION 4

Which of the following will protect data loss against catastrophic multiple physical drive failure?
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A. RAID 10

B. Snapshot
C. Tape backup
D. RAID 5

Correct Answer: C

QUESTION 5

A security administrator wishes to enable multifactor authentication. Which of the following would achieve that
objective? (Choose two.)

A. Security token and dongle

B. Fingerprint and one-time passcode

C. Username and challenge questions

D. Password and PIN

E. Voice pattern and retina scan

F. Random number generator and passphrase

Correct Answer: BF
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